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Lecture 12
The Birth of Capitalism

Introduction

From this week to the end of the unit we will be considering macroeconomics i.e. looking at the economy from an overall point of view, rather than considering microeconomics issues (looking at a particular market/industry). Economists’ explanations/understanding of the overall macroeconomy changes over time, while at any given time there has always been disagreements between economists over how the economy behaves and consequently what the government should or should not do to influence the economy.  We shall thus largely take a historical approach, explaining how economic ideas reflect the times in which they were developed.  Today we will begin with the birth of the market economy/capitalism and by lecture 20 will arrive at the current recession that we are suffering. 

In this and next weeks lecture we shall find, as the market economy developed between 1760 and 1900, how the ideas of ‘classical political economy’ replaced previous explanations of how the economy worked.  This week we shall focus on the ideas of Adam Smith (the first great classical political economist) and Karl Marx (the last great classical political economist).

Pre-Market/Capitalist Societies

Goods and services were produced, money was used, but crucially society was directly controlled by the nobility (lords and kings) and the church, who were together the great landowners.  The nobility’s and the church’s ‘social’ rules governed who could produce and sell what, where and when e.g. in many countries it was forbidden to charge interest on loans.  People ‘had their place’, being born into their occupation and position in society.  Peasants were tied to their villages i.e. the control of the noble or churchman who owed the land, and forbidden to leave, becoming bandits (criminals) if they did.  The vast majority of people were peasants: agriculture dominated the economy. The nobility and the church decided where manufacturing (the production of goods) would be given permission/license to operate.  The minority of the population engaged in manufacture was controlled by strong guilds for each craft/occupation, who controlled/self-policed all aspects of that craft/occupation (the numbers in the craft/occupation and how it must be conducted).  Lancellotti, illustrates this control, writing in 1623 (quoted from Marx, Capital, Volume 1, 1867, page 554),

‘Anthony Muller of Danzig saw about fifty years ago in that town a very ingenious machine, which weaves four to six pieces at once. But the mayor of the town became apprehensive that this invention might throw a large number of workmen onto the streets, and therefore had the invention suppressed and the inventor secretly strangled or drowned.’

We can see how in an economy/society run by ‘social’ rules (traditional ways of doing things) change, and the instability changes brings, is seen as a threat to society and those who control that society (church, nobles and guilds).  As a result of this tight control the economy was very undynamic/static, with little technological progress and consequently little improvement in living standards over time.  People’s circumstances largely depended on the weather (good harvest = plenty/boom, bad harvest = hunger/recession) and to what extent their noble rulers taxed them so as to go to war with each other (in the hope of gaining more land = peasants = power).

The Mercantile Era – Approximately 1500 to 1760

Marx calls this period early capitalism, with ‘full’ capitalism, the dominance of the market system over traditional social rules/relations, emerging with the industrial revolution after 1760.  The term (name) mercantilism became the standard term for this period as countries, or rather usually particular parts of countries, which experienced a faster pace of economic development were associated with trade.  

Trade was largely in exotic agricultural products such as spices or even tulip bulbs (not to forget the importance of the slave trade) from all parts of the world to Europe.  Previously exotic products such as spices had entered Europe from the East very expensively by land.  Explorers from Portugal, and then increasingly Northern Europe, cut transport costs dramatically by finding shipping/trading routes to the East and beyond.  Trade/mercantilism developed fastest in Northern Europe, most notably in Holland and the UK, ensuring, for the first time, that Northern Europe outpaced Southern Europe in wealth and power.  Economic development was centred on ports and shipbuilding (of wooden sailing ships).  Mercantilists believed that trade was the sole source of profit and thus wealth, so encouraged aggressive government policy to maximise trade i.e. fighting wars to allow their merchants exclusive/monopoly access to as much of the world as they could.    

Adam Smith’s Challenge to Mercantilism 

Adam Smith (originally a Scottish professor of law, who is now on the £20 note) successfully challenged this Mercantilist view in his book the Wealth of Nations in 1776, to become the first great economist (to be precise classical political economist).  

Smith thought that trade in-itself must be a zero sum game; the buyer’s loss/gain must equal the seller’s gain/loss.  We can’t become rich by simply trading with each other.  Try it take a pen and sell it to your neighbour, then buy it back, no matter how many times you do this, you and your neighbour in total will have the same total amount of money you started with and the same pen.  

So what is the ultimate source of profit?

Smith explained all profit must be created in production through paying workers less than the worth of their labour (less than what they produce).  This surplus labour is the sole source of profit, with interest, taxes and rent simply being a redistribution of this profit.  

For Smith, to increase the nation’s wealth simply increase the number of workers in production through investing as much of total profits, the nation’s surplus, as possible in expanding production.  

Increasing the scale of production (the size of firms) would dramatically increase productivity (total output divided by the total number of workers i.e. the average number of commodities produced per worker) through –

A)
Increased division of labour.  Each worker should specialise in one task, rather than all workers performing all tasks i.e. each making the commodity (good or service) from start to finish.  Specialisation ensures that the average number of commodities produced per worker rises precisely because each worker is not producing the complete good or service themselves.

B)
Investment in new technology i.e. machines.  

Furthermore competition to keep being in the lead, or to catch up, would oblige factory owners to invest their profits rather than simply consuming it for themselves on luxuries.  The market system would thus naturally (automatically) deliver dynamic change and economic growth (ensure the growth of the nation’s wealth).

The market/capitalism had to be set free from outdated social restrictions to allow the economy to dynamically grow as never before.  The market had to be set free from -  

Any traditional ‘social’ restrictions applied by the landed nobility and the church, which dominated government at the time. We should note that the UK’s government was not democratically elected in any meaningful sense, corruption was rife, with merchants’ and landowners’ interests dominant.  In most European countries government was by absolute monarch i.e. by King alone, without even a corrupt parliament as in the UK.

The guilds’ ‘social’ control of manufacturing, which stood against specialisation and the introduction of machines by having strict rules on the maximum size of any guild member’s ‘firm’, and who should do what in that ‘firm’.

Policies that favoured landowners (the nobles and church being the main landholders), which produced high rents and high agricultural prices, and thus held back the available surplus to invest in production.  

Trade wars each country’s merchants aimed to gain from, which required taxes, and thus wasted the nation’s surplus.  

Smith concluded it was much better to freely trade and to invest as much of the surplus as possible in production.  The government should tax (eat into the nation’s surplus) as little as possible, and restrict its spending to tax returns to avoid government debt (borrowing part of the nation’s surplus and thus crowding out productive investment).  

This is the meaning/context of Smith’s recommendation of non-intervention in the market (laissez-faire) by the government or any other ‘social’ force. 

Smith’s ideas reflect the general intellectual movement of his time, which was termed the enlightenment (Smith was inspired to uncover the ‘scientific’ movements of the economy by Isaac Newton’s ‘scientific’ explanation of the movements of the planets).  Enlightenment thinkers in general used science to challenge all past conventions.  It is they who developed the idea of inevitable progress through science/rational thought (as opposed to any traditional or religious ‘superstitions’).   Western enlightenment ideas (from the supremacy of the market system to Marx’s scientific prediction of communism) have spread throughout the world with the development of the market system creating unprecedented economic growth and unprecedented upheaval, with the ‘rational’ market system now threatening to destroy the environment/the planet itself!

The UK And The Industrial Revolution – 1760 To 1914

Compared to the very undynamic past the growth/economic development Northern Europe experienced in the mercantile era was very impressive, but now it wound be dwarfed by the completely unprecedented growth experienced in the industrial revolution. Note market economies have continued to grow just as fast in the C20th, with China’s industrial revolution helping the market system to continue to drive forward in the C21st.  

The UK changed from being a predominately agricultural economy in 1760 (like everywhere else, with the majority of the population living rurally) to being a predominately industrial country by around 1850, with the majority of the population crowded into towns and cities.  

But in 1760 both education and science in general were more developed elsewhere in Europe than in the UK.  So why did the industrial revolution occur in the UK and how did it happen?

From around 1760 in the North of England textile factories were set up (previously textiles were largely produced by hand in agricultural workers’ own cottages).  Once concentrated together in the factory workers productivity increased, and continued to increase as factory owners invested in technology/machines, expanding the scale of production.  Dramatically improved productivity ensured textiles could be sold at much lower prices, still leaving room for a very high profit rate.  

Demand came from the UK, Europe and India (which was forced by the UK to buy from the UK and not to produce textiles itself).  Textile industry growth soon doubled the UK’s total output, creating many millionaires in Manchester and Liverpool.  In the first half of the C19th these enormous profits acted as the basis to the development of the coal and iron industries in response to the invention and rapid building of railways (in a manner we shall explore in lecture 14).  

As growth continued in the second half of the C19th large scale, machine intensive, production spread to more than more industries.  Investing the surplus had ‘worked’, as Smith had suggested, the UK remained the world’s number one economic superpower up to 1914.   

Let us consider matters a little closer, why were conditions so ripe for the industrial revolution in the UK?  Note we have already mentioned the captive Indian market.  

From the C16th onwards, traditional social relations were broken down in the ‘UK’.  Rather than seeking to maximise social stability the Tudor aristocracy focused on making money, with the subsequent growth of the power of Parliament being the growth of the influence of those with money making as their central aim.  Peasants started to be employed for money as agricultural workers.  

Peasants had traditionally had their own small strips of land and access to the common land (land that all in the community had the right to use for their animals).  Traditionally peasants had paid rent to landlords in kind (in quantities of agricultural products e.g. so much grain or so many sheep) and had been obliged to work their landlord’s land for so many days in the year.

From around 1500 to 1750, first slowly and then from 1700 much faster –

Peasants lost their strips of land,

Common land was enclosed (fenced in for the sole use of the new legal owners of that land).

Landlords took away any room for a garden/allotment at agricultural workers rented homes.

Rent was demanded in money, while agricultural workers were hired for wages paid in money to work for farmers (who sometimes owned their own land, but usually rented it from the large landowners).

So by 1750 the UK no longer have peasants; it has have money-orientated landlords, money-orientated farmers and agricultural workers being paid their wages in money. Agricultural workers thus became entirely dependent on the wages farmers paid them.

By the middle of the C18th agricultural workers in the UK (then the vast majority of workers) were in a pitiful condition. UK agricultural workers had been better off in 1700 than 1800 (and even better off in 1600) while in Western Europe agricultural workers were still better off.  

So for over 200 years agricultural workers living standards in the UK had worsened as, increasingly, the supply of agricultural workers exceeded the demand for agricultural workers (which was reduced by improvements in agriculture), so agricultural wages dropped, and by 1750 stayed below, starvation levels.  Complete starvation was avoided by the development of locally funded (by the local landowners) poor relief (social security) to supplement agricultural workers wages.  Keen to reduce their contributions to local poor relief landowners were happy to see agricultural workers leave to find work elsewhere.  

So as textiles and then other industries were established and rapidly grew from 1760, millions of agricultural workers were keen to move to the towns in the hope of escaping a rural life of near starvation.  

Faced with dramatic social change the government did not step in to restore stability and order, in contrast it stood by the factory owners, fighting any development of trade unions and sending troops to textile areas to subdue rioting redundant (unemployed) hand loom weavers (luddites). 

As Marx explained the UK now had doubly free workers.  With old social restrictions removed they were free to work anywhere for anyone. They were also free from the ability they had enjoyed in the past to support themselves by producing their own food through use of common land or having their own strips of land or allotment.  They were thus free from owning or having access to the means of production, which were now owned by capitalists and landowners. So workers were now free to work and obliged to work.  

In towns a system of barbaric workhouses was set up for those who could not find work, while near starvation conditions prevailed in agriculture.  

Furthermore Marx explained how workers wages bore no relation to what workers produced, but rather depended on what was necessary to bring the worker back the next day.  

Given the grim alternatives wages only had to provide for a very basic standard of living.  Men, women and children ‘legally freely’ worked in usually appalling conditions for 12-14 hours a day 6 days a week for a wage that barely allowed them to live.  

Wages stayed very low as growth and technological change raced ahead, only beginning to rise slightly from 1875 as trade unions finally gained ground in their fight with factory owners and the government.  

Investment and private consumption of profit was more than sufficient to drive rapid growth i.e. the industrial revolution was not built on ‘wage-led’ growth.  Note how US growth since 1991 has been impressive, while average ‘real’ wages (see lecture13) have fallen. 

In summary the industrial revolution occurred in the UK because the powerful landowners and merchants, supported by a rapidly growing number of industrialists, directed the government that they controlled to supporting radical change rather than, as initially occurred in Europe at this time, the government trying to stop or limit radical change.  

The repeal of the Corn laws in 1846 showed how industrial influence over government now eclipsed even the great landowners’ influence.  The Corn laws had kept the price of corn high, benefiting landowners, by restricting import of cheaper corn from abroad.  Industrialists wanted free import of corn to reduce the price of corn, and thus reduce the wages they needed to pay their workers so as to consequently increase their profits.  The advance of the market/capitalism in the UK thus led to the UK’s adoption of free trade.
Guidance For Tutors/Tutorials – Week 12

How did ‘social’ control act against change in the pre-capitalist/market world?

Play the pen ‘game’ (referred to in the lecture notes for week four) to discover how profit cannot simply be generated by exchange.

Explain, with exchange ruled out, how Smith identified workers as the ultimate source of profit.

Why did Smith believe that investing the surplus would increase the nation’s wealth?

What was the nature of the intervention in the economy that Smith was opposed to?

Lecture 13

Marx, then Government Finances
Marx and the Economic Cycle

As the capitalism system became firmly established in the C19th total output, which we shall term Gross Domestic Product (GDP, Gross = total, Domestic = for that country, Product = output) did not simply smoothly grow.  Rather GDP would race ahead in ‘boom’ to contract in sharp and sudden recessions/slumps (then termed crisis).  Over the ‘cycle’ the economy grew; GDP increased more in booms than it dropped in slumps, but growth was not smooth.  

Before the industrial revolution booms and slumps were simply explained by the weather or the impact of war.  Now for the first time, independent of weather or war, the economy ‘cycled’ for its own ‘mysterious’ reasons.  

Economists tried to explain such instability in terms of the impact of particular events (like the US civil war disrupting the cotton supply) or the speculative behaviour of the developing financial system (which we shall explore next week).  

Note, given the general low level of wages and the absence of workers organisation/power, the idea of a wage/worker behaviour led cycle was not considered; this idea would have to wait until the C20th.  

Marx did not dispute that particular events may lead to crisis, but argued ‘this peculiar cyclical path of modern industry, which occurs in no earlier period of human history’, this ‘decennial cycle (interrupted by smaller oscillations) of periods of average activity, production at high pressure, crisis, and stagnation’ would inevitably continue due to very nature of the market/capitalist system (quotes from Capital, Volume One, Marx, 1867, page 785).  

Marx predicted the cycle would shorten from 10 years as the capitalist system developed.  By the C20th the cycle was thought to be about 7 years, and termed the trade or economic or business cycle.  

Marx argued that after a crisis capitalists would seek to out-compete each other by improving their productivity through investment.  Investment would now drive recovery and then boom, but as investment was aimed at increasing productivity the pace of investment in machinery and use of raw materials would be faster than the growth in employment.  Given Marx, like Smith, believed that workers were the ultimate source of profit, profit being the difference between wages and the value workers added to production, a relative increase in the quantity of raw materials and machines to the number of workers would tend to reduce the rate of profit.  

Let C be the total value of machines and raw materials, V be the workers total wages and S be the total surplus/the basis to profit that workers produce. 

The profit rate is given by  S / (C + V).  

As S tends to grow slower than C in times of recovery/boom the profit rate will tend to decline, creating the conditions for slump/crisis.  

The powerful market would inevitably ‘self-defeat’ itself in recurrent cycles ending in crisis.  

In crisis machinery etc would dramatically loose value/drop in price (with individual capitalists often-going bankrupt and new capitalists snapping up their factories cheap) reducing C relative to S, thus creating the conditions for renewed growth by boosting the profit rate.  

Marx, like Smith, thus thought that the market system would deliver dramatic growth, but to Marx only unevenly over the cycle.

Finally we should note how as the market system spread internationally from 1850 to 1914 observers talked of an unprecedented era of globalisation.  International trade and investment raced ahead as technological developments drastically cut transport times and costs, while the telegraph (the first Internet!) provided near instantaneous long distance communications for the first time.  Globalisation seemed the inevitable outcome of the growth of the market system.  By the 1900’s it seemed to many observers that as countries were now so inter-linked by the growth of the market system that war between them was unthinkable: a thing of the past as unnecessary and outdated as all the other ‘social’ inefficiencies of the pre-market system ‘dark ages’.

Nominal and Real      

To understand economics you must appreciate the importance of clearly defining what is real and what is nominal.  

Nominal means in cash/money terms.  Say I was paid £200 a week, this is my nominal wage.  

My real wage is my nominal wage adjusted for inflation (w/p conventionally on labour market diagrams).  

An example should make what is real or nominal clear.  Say I was paid £200 a week last year and this years inflation is 10%.  This year the prices of the goods and services I consume increases by 10%.  If I still get paid £200 the real quantity of goods and services I could buy will fall by 10%, my real wage falls by 10%.  If I get paid £220, 10% more, it will allow me to buy the same quantity of goods and services as last year, my real wage is constant.  If I get paid £240 this year, a 20% nominal wage increase, then with 10% inflation my real wage increases by 10%.

We are concerned with how GDP/total output changes in real terms.  GDP measures the total money value of goods and services produced in the economy in a year. As prices rise each year the money value of output rises, so in money terms nominal GDP appears to grow very strongly through the years.  We need to adjust changes in nominal GDP by the rate of inflation to identify how output in physical terms, i.e. real GDP, is changing.  If nominal GDP rose in a given year by 10%, while prices rise by 5%, we would subtract the 5% inflation rate from the change in nominal GDP to discover real GDP has grown by 5%.

We should note that from 1760 to 1914 prices fell more than they rose i.e. there was average deflation (negative inflation).  It is only since 1945 that prices have tended to rise each year. Persistent inflation is thus a comparatively recent phenomenon (thing/happening) in the market system.

The Government Finances
So far we have considered the general development of the capitalist/market system.  For rest of this week and next week we shall consider how the institutions ‘of the market’, still standing proudly today, developed with, and helped shape, the development of the market system.  We should note how governments, central banks, banks, bond markets, commodity markets and stock markets were all well established in the UK as early as 1850. Let us first explore the Government’s Finances.
In pre-capitalist times kings had long taxed, spent and borrowed.  

By 1660 in the UK Parliament (representing landowners, church and merchants) had taken the right to decide taxes away from the king.  Parliament/the government ran the country, setting taxes, passing laws and fighting wars, to the satisfaction of the powerful (with industrialists gaining the greatest influence by 1846).  As late as 1900 less than a quarter of the UK’s population had the right to vote, ‘democracy’ as we know it did not arrive until the first quarter of the C20th.

Let us consider what happened if the government spent more than they taxed.  

In Spain in the C17th the government tried to spend more than it taxed by reducing the gold and silver content of coins (debasing the coinage), the result was inflation and a fall in economic activity.  

Napoleon sought to spend more than his government raised in tax in France by issuing paper money (not convertible into gold or anything else), again inflation and confusion damaged production.  It was thus clear even before the industrial revolution that creating money from nowhere was no answer.  

If the government wished to spend more than it taxed in a stable way they simply needed to borrow the difference from someone (in C13th England Edward I borrowed from the Jews, and then expelled them from the country to avoid paying them back).

The Bank of England was established in 1694 as a ‘club’ of wealthy merchants to co-ordinate lending to the government.  

The government borrows by issuing government bonds, with the Bank of England co-ordinating the process.  

A government bond promising to pay its holder £100 in 3 months time will be ‘bought’ by an investor for say £98.  The government thus borrows £98 for three months then pays £100 to the bondholder, who thus earns £2 interest.  

Once the bondholder has bought the bond from the government they can sell it to someone else if they want to.  Mr A could sell the bond to Mrs B for say £99, with Mrs B now set to be paid £100 by the government when the bond is due for repayment/has reached maturity.  

Governments borrow by issuing bonds (selling them to investors), as organised by the ‘Central Bank’, in the UK the Bank of England, with the bond market simply being a ‘second-hand’ market for government bonds.  The bond market allows bond holders to immediately turn their bonds into cash (providing ‘liquidity’), but, depending on the supply and demand for bonds i.e. the price of bonds in the bond market, potentially at a gain or at a loss.  

We should note that companies also issue bonds, which, like government bonds, are traded on bond markets.

Before we look at the matter in more detail we should note how the interest rate on government bonds is established.  If for the number of bonds the government wishes to issue (supply) and the rate of interest it wishes to pay there are enough willing buyers of those bonds (demand) the government will be able to successful issue its bonds/borrow at that interest rate.  However if at a given interest rate fewer bonds are demanded than the government wishes to issue, demand for bonds must be raised by the government offering a higher interest rate on its bonds.  In such a fashion the government’s borrowing requirement can influence interest rates in that country. 

Governments usually spend more each year, G, than they tax, T, so have a budget deficit, BD, for that year (if the government in a year taxes more than it spends it would have a budget surplus, BS).  

A country’s national debt is the sum of all of its past years budget deficits (minus any budget surpluses, which reduce the national debt).  

The entire national debt must be borrowed/exist as government bonds. 

Note the government borrows a little for free through issuing bank notes and coins (segiorage), but this is very small in proportion to the size of the national debt.

Government bonds range from lasting/having a term before they reach maturity and have to be repaid, 10 years to 3 months.

Let us consider an example.

Assume all government bonds are for one year.   

Say at the end of a particular year the national debt stands at £950, meaning £950 of government bonds mature i.e. the government has to pay back bondholders £950. 

Say the government wishes to spend £750 in the coming year, and tax (T) £700.  For simplicity assume the government has to borrow/issue government bonds to cover this difference (£50) at the start of the year (in reality government bonds, of varying length, are issued and come up for repayment throughout the year). 

In total the government must thus borrow £950 (to pay existing bondholders) plus £50 (to cover spending more than they tax in the coming year), a total of £1000.

Assume the government can borrow (issue government bonds) at 5% interest.  They need to borrow £1000, and must thus repay £1050 at the end of the year, by issuing/selling government bonds at the start of the year with a face value of £1050 for £1000. 

At the end of the year/start of the next year the process must begin again, new bonds must be issued to repay this years bonds and cover the next years budget deficit.

Successfully issuing new government bonds in-order to repay old/maturing government bonds is termed rolling-over the national debt.

By the end of the year the –

The national debt has risen to £1050.

Total government spending equals £750 plus the interest paid that year on the entire national debt which is £50 (£1050-£1000), a total of G = £800.

Given the government taxes £700, it has a budget deficit for the year of,

G – T   =  £800 - £700  = £100

To calculate how the governments ‘fiscal stance’, i.e. how its budget deficit or surplus, is likely to affect aggregate demand (total demand), it is conventional to calculate the government’s ‘primary’ budget balance which excludes interest on the national debt.  In our example,  

This year’s primary balance 
=  £750 - £700  =  £50

Excluding interest on the national debt, the government is spending £50 more than it has taxed this year (thus boosting aggregate demand).  

To adjust for inflation, and to facilitate cross-country comparison, the budget deficit and national debt are conventionally measured each year in relation to that year’s GDP (gross domestic product = total output).  

Assume for the year we consider above that GDP is £2000, the budget deficit would equal 5% of GDP (£100/£2000) and by the end of the year the national debt would stand at 52.5% of GDP (£1050/£2000).

Bonds, and bond markets, have thus long providing an efficient solution to government’s borrowing needs.  However as the government is relying on the behaviour of borrowers this mechanism is cable of breaking down (e.g. Russia in 1998, or Argentina in 2001, or even in the UK today as we shall discuss in lecture 20 on the current recession).  

We shall find as a general theme that the institutions of the market system can both ‘efficiently’ solve problems and potentially create them.

Guidance For Tutors/Tutorials – Week 13

What is the economic cycle?  

Why did Marx think that the cycle was inevitable? 

What is the difference between nominal and real?

Why can’t governments simply create money if they wish to spend more than they tax?

How do governments borrow by issuing bonds? 

What is a budget deficit and what is the national debt?

Lecture 14

Banks and Markets 

Credit Creation/Banks/The Central Bank

During the course of production and the sale of output firms make payments and receive payments at different times.  It would be very inefficient for firms to have to stop producing regularly in-order to wait for their output to be sold before they can buy their inputs again and restart production.  

To produce without interruption would thus require the factory owner to have a large reserve of ‘idle’ money to cover interruptions in cash flows.   To solve this problem, starting in the C18th, factory owners offered credit to each other in the form of commercial bills of exchange, which promise to pay an agreed sum to the named creditor at a given date in the future.  For example factory owner A may draw up a bill of exchange with factory owner B, promising to pay £500 to B in three months time (for B’s supplies of raw materials to A today).  Credit was thus spontaneously created as the market system developed (such commercial credit is still widespread today).  

Sometimes factory owners, only holding bills of exchange (promises to be paid various sums in the future), would be faced by an immediate need for ‘cash’ to make payments.  Banks developed in the C18th by providing a solution to this problem.  

A bank would buy the factory owner’s bill of exchange with another factory owner (say promising to pay £1000 in two months time) paying the factory owner its own banknotes (to the value of say £950, below £1000, to allow the bank to make a profit from holding the bill of exchange).  The factory owner could now use these banknotes as ‘cash’ i.e. the banknotes would be accepted as payment by the factory owner’s creditors.  So Banks created banknotes by ‘discounting’ bills of exchange. 

Banking thus developed, privately (not by the direction of the government), with the rise of industry in the UK in the C18th and C19th to efficiently satisfy firms short-term credit needs i.e. to help firms’ with their cash flow.  However each bank issued its own banknotes, which thus became less acceptable as a means of payment (as cash) the further you were away from the locality of that bank. Any bank’s banknotes could be brought back to the bank that had issued them to be exchanged for gold, the ultimate ‘cash’.  To cover against this banks needed gold reserves.  

By 1800 the Bank of England had started to become the banks own banker.  Banks transferred their gold reserves to the Bank of England in return for universally acceptable Bank of England banknotes, with that universal acceptability following from the fact that the Bank of England had been granted by the government the sole right to issue banknotes in the City of London, the UK’s financial centre.

Consequently Bank of England banknotes were already replacing most banks’ own banknotes by 1844 when the government granted the Bank of England the sole right to issue banknotes.

Banks efficiently collected factory owners/wealthy landowners/merchants temporally idle money in bank deposits, offering a certain rate of interest on these deposits.  The bank would now lend this money to other factory owners/merchants at a higher rate of interest, thus making a profit.  

The nation’s available wealth/money was thus efficiently put to use, allowing the economy to operate at a higher scale than if money hoards had remained idle.  The development of credit/banking, which accompanied the development of the market system, thus contributed to the efficiency and further growth of the market system. 

On the down side if a bank built up bad-loans (loans made by the bank which can no longer be paid back to the bank), the bank could go bankrupt destroying savers deposits and bringing healthy and unhealthy businesses down indiscriminately as the bank demanded immediate repayment of all its loans.  One bank’s collapse could lead to another’s, threatening the stability of the whole banking system. 

Banking/financial crisis can either be triggered by excessive speculation/reckless expansion of lending or simply through the economy entering the crisis/recession phase of the economic cycle.  Both factors lead to an escalation of bad-loans.

In recession/slump/crisis many firms may go under and be unable to repay their loans, creating an escalating amount of bad loans to threaten the stability of the banking system.  Note, to the current day, banks have first right to any funds/assets a firm may have when it enters bankruptcy.

Alternatively excessive speculation, supported to some degree by bank lending, may increase commodity and/or share prices to a very high level, only for a change in speculators’ mood/confidence to bring them crashing back down, leaving many speculators unable to pay their loans back to banks.  Note speculative investments today, notably in derivatives, are seen as a potential danger to the financial system in exactly the same fashion, see lecture 20.

However it turned out to be banks speculative/over-enthusiastic sale of loans to each other, which has created a world wide credit crunch/crisis from 2007, as we shall see in lecture 20.  

In the C19th the UK government learnt, as the economy developed and regular crisis occurred, that bank collapse/financial crisis could badly disrupt the economy, so gave the Bank of England the job of being the guardian of the stability of the financial system.

The Bank of England can control the extent of any financial crisis by acting as lender of the last resort to banks i.e. by providing (enough) banks with the money/liquidity they require to avoid collapse, thus preserving the stability of the financial system. We can clearly see how the Bank of England saved the Northern Rock building society from collapse in 2007 by lending it, at last resort, billions of pounds, while we shall explore the Bank of England’s further actions in 2008 and 2009 to save the UK’s banking system in lecture 20.  

The Bank of England’s influence over banks own rates of interest comes from its setting of the interest rate that it is prepared to lend to banks at the last resort.  

Crudely we can see the Bank of England’s ‘base’ rate as the ‘raw-material’ price of money for the banking system.  If the Bank of England reduces the base rate the banking system reduces their interest rates, while an increase in the base rate increases interest rates in the banking system.  

However the Bank of England only has influence; it can not directly control the interest rates banks choose to lend at.  We saw in 2007 and 2008 how banks increased the interest rates they were prepared to lend to each other and to their customers at, while both the US Central Bank (the Federal Reserve) and the Bank of England were reducing their interest rates. We shall explore this further in lecture 20. 

As early as 1844 the Bank of England had gained/developed all the functions of a ‘Central Bank’.  A country’s Central Bank –

(1) Co-ordinates government borrowing in that country.

(2) Holds that country’s gold (and foreign currency) reserves.

(3) Acts as lender of the last resort to/guardian of that country’s financial system. 

(4) Seeks to control interest rates (monetary policy) in that country.

A country’s Central Bank is thus closely linked with its government.  Historically, at different times in different countries, the Central Bank sets monetary policy (meaning the rate of interest it lends to the financial system at) either under the direct direction of government or independently by its own choice (an independent Central Bank). 

Financing Long Term Projects/Investment – The Stock Market.

In the C18th and C19th UK banks largely provided only short-term credit to industry i.e. it helped firms’ with their cash flow.  In the early stage of the industrial revolution textile factory owners enjoyed very large profits, so were easily able to finance their own long-term investments in expanding production.  As we mentioned last week, by the early C19th textile industrialists had accumulated very large profits, whereas opportunities to invest those profits were limited.  

With the invention of railways in 1820’s a new very different type of industry was created.  Rail companies faced enormous start up/fixed costs; they had to build the line and buy the trains before they could start receiving any income at all.  Furthermore it would take many years to earn sufficient income to cover their start up/fixed costs.  With banks only lending short-term how could this be financed?  

Rail companies set themselves up as Joint Stock Companies and issued shares.  The share issue would provide the capital to build the railway, when built profit would be distributed to the shareholders in dividends.  Textile profits were thus invested long-term in rail shares enabling the UK’s rail system to be rapidly built (mainly in two ‘railway manias’, 1835-7 and 1844-7).  Railway growth directly stimulated other large industries with high fixed costs such as iron and coal.  

As the C19th progressed UK firms increasingly raised long-term finance by becoming Joint Stock Companies and issuing shares.  The stock market developed as the place to issue new shares and trade existing ‘second-hand’ shares.  

Development of shares and the stock market allowed firms to grow much faster, either through being the source of funds to directly expand that firm, or by making mergers and take-overs possible.  A firm could issue shares to cover its purchase of a firm not on the stock market, or if that firm was also listed on the stock market it need only purchase a majority of its shares.  Listed firms could merge and convert their old shares into new shares for the enlarged firm.  In such a fashion long term investment and concentration (mergers and take-overs) were efficiently financed, furthering the development of the market system.

In summary the developing UK financial system helped the development of the market system by banks financing industry’s short-term credit needs and by the stock market financing industry’s long-term credit needs.  Wealth no longer lay idle; instead it supported production by being deposited in banks or invested in shares.  The financial system enabled capital to efficiently quickly flow to expanding sectors, hastening their growth, while also encouraging increases in the scale of production by facilitating mergers and take-overs.  

In short the financial system directly supported the rapid growth of the industrial/market economy.  However this ‘efficient’ institution of the market system could also, merely by excessive speculation, plunge the economy into crisis/recession, as we shall explore further in lecture 20.

Finally we should note that elsewhere in many countries, most notably Germany and Japan, banks, rather than the stock market, tended to provide long-term finance/loans to industry.  As banks’ fortunes were so directly linked to the fortunes of the firms they provided long-term finance to, banks and firms formed very close relations.  The bank would usually hold seats on the firm’s board or potentially build up shares in that firm.  Opinions on the best way to finance long-term investment vary.  Sometimes, as in the 1980’s, many economists argue that the German/Japanese model is best for encouraging long-term investment, with the stock market seen as too short-term in its thinking by demanding faster returns on its investment.  At other times, as in Japan in the 1990’s, the close link between banks and firms is said to have inefficiently helped them to conceal bad-debts/bank losses, holding up necessary restructuring of both firms and banks.  

Commodity Markets.

Commodity markets developed in the mercantile era.  By commodities we usually mean goods and services in general, but here we mean agricultural products and raw materials.  Commodity markets not only allow people to buy commodities immediately; they also allow buyers to agree today the price they will pay for the commodity at some time in the future.  Commodity markets thus help firms by providing them with some certainty.  However commodity markets, since their inception, have also attracted much speculation.  If a commodity is thought by speculators to be likely to rise in price they will buy it, potentially dramatically forcing up the price of that commodity, disrupting industry. Once speculator sentiments change prices can likewise dramatically fall ruining speculators and potentially creating banking/financial crisis by creating bad debts in the financial system.  Like all the institutions of the market system commodity markets can thus both help and potentially disrupt the economy.  

Guidance For Tutors/Tutorials – Week 14

Explain how banking provides short-term finance to firms, and explore why this helps firms.

What are the functions of a Central Bank?

Explain how firms obtain long-term finance through shares, and explore how this is helpful to firms?

What are Commodity markets?

Consider how all the institutions considered last and this week, both help the efficiency of the market economy, but also bring potential instability to it?

Lecture 15

Economic Liberalism and the Great Depression

Economic Liberalism - 1848 to 1914

The capitalist system/the market economy, pioneered in the UK, quickly spread to Europe and the USA from approximately 1848.  As both the quantity of production rose and the range of products produced widened, new sources of raw materials and markets to sell products in were developed.  International trade and international investment grew as never seen before (directly in the establishment of factories or the building of railways = foreign direct investment, and indirectly through international loans and purchase of shares in oversees companies).  Technological improvements such as the steam ship and the telegraph dramatically improved international communications/transport.  

This ‘first’ period of globalisation seemed irreversible.  It seemed that the capitalist system/the market economy would continue to spread as long as all respected the spirit of laissez-faire, which by then was termed Economic Liberalism.  

In brief Economic Liberalism stood for the removal of all traditional/feudal barriers to free-exchange, the promotion of international free trade, and for the government leaving the economy to run itself.   

The UK acted as the anchor to the new international economy and financial system, being both the leading productive power and a huge net investor in the rest of the world. The Pound (backed by a set conversion rate into gold i.e. the gold standard) acted as the world’s dominate currency, the stable currency for countries to stabilise their currencies against. 

Finally a new factor began to become significant in the late C19th and early C20th, the rise of trade unions and trade union sponsored socialist parties.  Such parties, particularly in Germany (the Social Democrat Party), started to gain concessions from governments, ensuring the introduction of the first, limited, state funded pensions and sick pay (the very small beginning of the welfare state).

The Economics of Economic Liberalism/The Classical Consensus

Was developed in the late C19th, and was termed the Classical Consensus.

Unemployment was seen to result from the voluntary choice of the unemployed.  This conclusion follows from the logic of a Walrasian approach.  We all go to the market with what we have to trade including our time and rationally bargain, prices are determined, we all receive what we want, a fair trade to all.  We maximise our utility (satisfaction) given our constraints (what we have available to take to the market) i.e. we receive the best possible return for what we can take to the market.

This logic suggests that if we receive unemployment it is what we traded for, our choice, we valued our time more than the wages on offer.  So classical economists’ understanding of the labour market depended on the workers being able to pick their own real wage (cash/nominal wage adjusted by inflation) by deciding whether or not to supply their labour. To reduce unemployment workers must simply accept lower real wages. 

This voluntary explanation of unemployment was thought by classical economists to apply to both the short run (the present and near future i.e. next 1 or 2 years) and the long run (the future, for example 5 years time).  

Classical economists focused on the supply side of the economy (the cost side e.g. the cost of labour, the real wage) because they believed that supply created its own demand.  

Say’s law stated that supply creates its own demand in both the short run and the long run.  All payments (rent, wages, purchase of inputs and machines, interest and distribution of profit) to factors of production (land, labour and capital) are assumed to be used for consumption or saving.  Both consumption and saving are assumed to create immediate demand, as the volume of saving is thought to determine the volume of investment (the classical theory of interest).  Demand will always be sufficient to consume the aggregate output resulting from the level of employment determined in the labour market (the labour market’s current equilibrium).  

So to sum up, 

To reduce unemployment/generate higher employment workers must accept lower real wages.  

Says law will ensure demand is sufficient to consume the extra output.  

In response to recession the government should sit back and wait for this to happen, prudently aiming for a balanced budget (government spending equals taxation) to not crowd out savings from being used for private investment by using them to support government borrowing.

World War One and the 1920’s

The UK government believed it could fight the war and maintain Economic Liberalism, but by 1916 it was forced to change its approach to increase production.  The government switched to directly planning production and brought the, now powerful, trade unions into the process (empowered by the high demand for workers and workers’ willingness to go on strike during the war).  The UK had to abandon the gold standard (convertibility of banknotes into gold) and borrowed heavily from abroad (particularly from the USA).  

By the end of the war European nations were in heavy debt, with Germany obliged to pay unrealistically high reparations to the victors by the Treaty of Versailles.  Note In an attempt to help pay reparations in 1923 the German government resorted to excessively printing money; the result was spiralling inflation, a hyperinflation, which destroyed the savings of the middle classes.  This event helped Hitler’s new fascist National Socialist Party to grow, but economic recovery in the late 1920’s reduced support for the National Socialist Party to a very low level.

The UK became for the first time a net borrower from abroad.

The old order of Economic Liberalism was further shocked by the unexpected seizure of power in Russia by the Communist Party in 1917.  Business, landowners and the middle classes were fearful of communist revolution, viewing socialist and communist parties alike as the greatest threat to the capitalist/market system.  In Italy, in unity against the socialist party and disillusionment with Economic Liberalism (Italy had been run by a Liberal government since its foundation in 1870) the establishment invited Mussolini, the head of the Italian Fascist Party, to take power in 1922.  

After considerable recession in the early 1920’s Europe did return to growth in the late 1920’s.  

In the UK from 1919 to 1929 the government struggled to restore Economic Liberalism.  The gold standard was restored, but at such a high exchange rate for the Pound with other currencies that to be competitive UK wages had to fall.  Recession or slow growth, falling prices (deflation), high unemployment (averaging around 8.5%), and industrial strife (culminating in the General Strike in 1926) persisted throughout the period.

In contrast the USA boomed in the 1920’s.  The boom included rising house prices and growing lending to the public to support their purchases of houses and cars.   The USA was now the most productive producer in the world and the largest international net investor/lender.  However the USA in the 1920’s, unlike the UK before 1914, did not have an outward focus, and remained largely a self-contained economy (low comparative imports and exports) with an inward looking government. 

The Great Depression 1929 to 1939

In the USA by 1929 it was clear that the boom was coming to an end, growth slowed, house prices fell, putting pressure on banks as people defaulted/could not continue to repay their loans.  All seemed set for a standard recession.

The stock market, which in the boom had become overvalued through optimistic speculation, dropped by 33% from September 1929 to November 1929, recovered a little in March 1930, but then continued to fall.  

By 1931 output had dropped approximately 15% below its 1929 peak, with unemployment rising to approximately 16%.  The recession was severe, but in line with recessions experienced in the C19th.  

But now the recession became the Great Depression as output continued to fall to a low of 30% below its 1929 level by 1933 with unemployment rising to a staggering 25%, with the stock market falling to just 15% of its 1929 value by 1932.  Why was the depression so great?

We must look at the behaviour of USA’s Central Bank, the Federal Reserve, and the nature of the USA’s banking system.  American law prevented the establishment of large countrywide banks, so instead thousands of small banks existed.  As the recession began banks, faced with defaulting lenders, started to go bankrupt, wiping out their customers’ deposits.  Fear of bank collapse caused customers to flood into their banks upon any rumour of potential collapse demanding immediate withdrawal of their deposits.  As banks could not so easily recall their loans, even viable banks could not pay out all their customers’ deposits immediately, so collapsed in the panic.

With every bank collapse depositors’ wealth was wiped out and viable firms dragged into bankruptcy through their banks withdrawal of credit and calling in of loans.  The Federal Reserve largely sat back and let banks collapse ensuring banking crisis severely escalated the scale of the depression.  

Such a scenario would have been impossible in the UK.  Its much larger banks, concentrated in London’s square mile, were supported, if monetary crisis threatened, by the Bank of England lending them the ready cash they needed, safeguarding the stability of the banking system.  

Learning their lesson too late the American government brought in Federal Deposit Insurance in 1934.  The government would now compensate customers for any loss of their deposits, up to a $100,000 ceiling, so depositors need not panic over the safety of their deposits.  

From 1929 to 1935 the level of investment collapsed, and remained at a persistently low level thereafter.  

American politicians were dumbfounded.  President Roosevelt famously won the 1932 presidential election promising a ‘New Deal’ to end the depression by taking a variety of particular measures (which would have varying degrees of success).  However, following the orthodoxy of Economic Liberalism like his predecessor, Roosevelt aimed to balance the government’s budget and to not go into deficit. Budget deficits were consequently unplanned and too small to end the slump, with return to budget surplus in 1937 provoking a further downturn.  Between 1931 and 1940 American unemployment averaged at 18.8%.  We must remember that to begin with no social security system existed, unemployment meant complete poverty.  Social security was finally introduced in 1935.  

The Great Depression in America was only finally ended by the Second World War through exports to the UK and spending on American rearmament.  Belief in Economic Liberalism had proved to be disastrous, setting the scene for the rise of Keynes’ ideas after the Second World War. 

America’s position as the largest international investor ensured the Great Depression quickly became global as American loans were withdrawn, the international financial system simply ceased to function.  In Germany, the largest borrower from the USA, unemployment rose to 44% in 1932-33, paving the way for Hitler to take power, the electorate responding by spitting between the far right and the far left, destroying all moderate and liberal parties.

Those countries, like the UK, which had restored the gold standard, were forced to abandon it, against the spirit of Economic Liberalism.  Countries turned to protecting their own industries by introducing trade barriers to imports, thus causing international trade to dramatically shrink, making the Great Depression even more severe.  Even the UK, up to then the bastion of economic liberalism, abandoned free trade in 1932.  

The Liberal political and economic consensus of the C19th, already shaken by the First World War, simple collapsed in the world-wide Great Depression of the 1930’s.  Countries only recovered by making preparations for war, with Germany, now under an extreme dictatorship never before experienced in the capitalist world, recovering first by preparing for war first, thus provoking other countries’ rearmament.  In contrast the now centrally planned Soviet Union experienced rapid growth in the 1930’s.  Communism and Fascism appeared to be the success stories, with traditional Economic Liberalism discredited and destroyed forever.

Guidance For Tutors/Tutorials – Week 15

Why did classical economists think that unemployment was voluntary?

How did classical economists think that supply created its own demand.

How did classical economists think governments should behave in recessions?

Discuss the role of bank failure in making the Great Depression Great?

Discuss how economic failure led to political failure/extremism in the 1920’s and 1930’s.
Lecture 16 

Keynes’ Challenge
As mass unemployment spread in the 1930's the notion of unemployment as a voluntary choice of the unemployed stood uneasily with reality.  Keynes presented a radically different view of the economy in The General Theory (1936).  Concerned with the present Keynes focused on the short run, famously stating that ‘we are all dead in the long run’.  

Keynes explained that the economy should be viewed as a continual circular flow of income between households and firms.
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Leakages equal Tax, Savings and Imports.

Injections equal Government Spending. Investment and Exports.

Income flows around the system from firms to households, and back again, and so on, the money goes round.  However income can leak out of this flow if it is saved (S), taxed by the government (T) or spent on imports (M).  On plus side income can be injected into the circular flow if firms conduct investment (I), or the government spends (G), or through exports (X) to abroad.

If injections are greater than leakages the economy will grow, like a tyre being pumped up.  

If leakages are greater than injections the economy will contract, like a tyre with a puncture.  

Aggregate demand (total demand) depends on the level of consumption (excluding consumption on imports), government spending, exports and, most significantly to Keynes the level of firms’ investment.  

Investment depends on the interest rate (lower interest encouraging more investment) and crucially on firms’ expectation of the future level of aggregate demand, which are formed in the inevitably uncertain and unpredictable real world.  

This period’s level of aggregate demand is driven by investment decisions made last period.  If firms expect aggregate demand to be higher next period they will plan to invest more in order to produce more to satisfy the expected higher level of aggregate demand.  Thus firms will actually increase demand by their own investment.

So, rather than, as the classical economists thought, supply creating its own demand and savings determining investment, Keynes argued supply responded to expected demand and savings adjusted to the level of investment.  

If firms reduced their investment, savings would exceed investment causing the economy to deflate/shrink as leakages exceeded injections (assuming government spending and/or exports did not increase to plug the gap between savings and investment).  In the end sufficient income would be destroyed to rebalance/reduce savings to the lower level of investment (leakages again equal injections); the economy would stop deflating but remain at a lower level of output and employment. 

On the other hand if firms increased their investment, investment would exceed savings causing the economy to inflate/grow as injections exceeded leakages (assuming government spending and/or exports did not fall to close the gap between investment and savings).  In the end sufficient income would be created to rebalance/increase savings to the higher level of investment (injections again equal leakages); the economy would stop inflating and remain at a higher level of output and employment.

Keynes introduced the concept of the multiplier.  Extra spending through an investment creates income for workers, which they then spend, and so on, multiplying the effect of the initial investment/injection.  If we assume no trade or government the multiplier would be 1 / mps, with mps being the marginal propensity to save/how much of any extra income people would save.  If bring trade and government in the multiplier would be 1 / (mps + t + mpm), with mpm being the marginal propensity to consume imports and t being the tax rate.

The implication of Keynes’ analysis is clear; if business takes fright and stops investing the economy will drop into a recession/slump/depression, and potentially stay their, unless investment rises again, or exports rise, or crucially the government increases its spending without raising taxation.  The government standing back in slump and attempting to balance its budget, as advised by classical economists, thus held back recovery unnecessarily.  

Given prices fall in slumps and the nominal interest rate can fall no lower than 0% governments have no control over monetary policy/the real interest rate in slumps.  For example if the nominal interest rate fell to 0.5% and we have deflation of 2% in that year the real interest would be 0.5% - -2% = 1.5%.  If deflation increased to 5% in the next year and the nominal interest rate stayed at 0.5% the real interest rate would rise to 4.5%, further pushing the economy into recession. Note this happened in Japan in the 1990’s, helping to produce a decade of recession, and the Bank of England is trying to take action currently to avoid such a possibility today, see lecture 20. 

The obvious solution/tool to use to end a slump as quickly as possible is to use expansionary fiscal policy; the government spending more than it taxed through borrowing i.e. the government planning to have a budget deficit.  Furthermore the budget deficit needs to be sufficiently high to ensure that overall injections into the circular flow of income exceed leakages, thus ending the shrinkage of the economy and causing it to start to expand again.  Business confidence will now be restored, so investment will rise, further expanding the economy.  When the expansion is sufficiently strong the government can reduce its budget deficit (even move into budget surplus) without threatening continual expansion (as long as overall injections still exceed leakages).

Involuntary unemployment

We have seen how classical economists thought that unemployment was voluntary, with the unemployed needing only to price themselves back into work by accepting a lower real wage.

But Keynes argued that workers could only bargain over their nominal wage, not the real wage, as firms determined the real wage by their pricing decisions.  If workers accepted in recession a lower nominal wage, then firms might reduce their prices, leaving the real wage unchanged (even potentially higher if recession caused firms to cut prices faster than nominal wages fall). To Keynes, in recession, workers could not easily price themselves into work, unemployment resulting from lack of demand, and not from the workers actions, they were thus involuntary unemployed.

Furthermore Keynes had seen how workers in the UK had fought against nominal wage reductions in the 1920’s and 1930’s (UK miners famously demanded ‘not a minute on the day or a penny off the pay’). Reducing nominal wages was thus very difficult, so Keynes concluded that it would be easier to reduce the real wage by the government increasing aggregate demand to produce inflation rather than deflation. If inflation exceeded nominal wage growth the real wage could fall far less painfully through this money illusion than through actually trying to reduce the nominal wage.

We should note how in the General Theory Keynes accepted the classical economists’ idea that higher employment required a lower real wage (or profit would fall, as unit cost rose as output rose).  This implied counter-cyclical real wage behaviour (up in slump, down in a boom).  But in fact this did not fit with statistical observation in Keynes’s time, Dunlop (The Economic Journal, September 1938) found real wages to be pro-cyclical (down in slump, up in a boom, because unit cost in fact rose in slump and fell in boom).  In response to Dunlop Keynes (The Economic Journal, March 1939) accepted that this may well be true, and if so further strengthened the chance of achieving full employment (i.e. if unit cost fell as employment increased the real wage need not fall as employment grew).

In summary, Keynes concluded that it was the government’s responsibility to ensure that aggregate demand was sufficiently high to generate high/full employment.  With moderately rising prices (low inflation) accompanying full employment indicating a healthy economy.

And the long run?  

Keynes explained that the rates of interest charged by banks, from short-run interest rates (applying to loans for a short period of time) to long-run interest rates (applying, or rather fixed, for longer periods of time) were dependent on the state of expectations in the financial market.  

The financial market at different times had set/accepted as conventional different levels of interest rates, sometimes historically for a period setting lower real interest rates, and sometimes historically for a period setting higher real interest rates.  Note the 00’s up to 2007 was a period of low interest rates.  

Keynes thought to ensure a long period of high investment and employment the market’s expectation of interest rates must be kept low.   It was the Bank of England’s (the Central Bank’s) job to influence the financial market with its monetary policy (setting of the interest rate it supplied money to the financial system at) to ensure that interest rates in the financial market stayed low.

Keynes’s message was clear; the economy could have a persistent long-run equilibrium/state of high unemployment, or a persistent long-run equilibrium/state of low unemployment (full employment).  Furthermore it was the government’s duty to ensure as high an employment long-run equilibrium as possible by maintaining aggregate demand, through active use of fiscal policy and monetary policy to support that goal.

Guidance For Tutors/Tutorials – Week 16
Consider the circular flow of income and the concept of aggregate demand.

Consider how to Keynes savings (leakages) adjusted to investment (injections) and how this contradicted Say’s law.

What does Keynes mean by involuntary unemployment?

How does Keynes think that governments should end a recession/depression?

Lecture 17 

The Golden Age
The Second World War

The planners won the Second World War, plain and simple.  In Germany much of the economy was left unplanned, explaining why, despite use of slave labour and resources from around conquered Europe, German military production lagged behind that in the UK, or in the USA, with the Soviet Union having the highest military production of all.  The UK effectively became a planned economy, supported by a social partnership between business, workers and government.  Such national unity changed the political consensus dramatically in the UK and the USA.  Even before the end of the war it was accepted that after the war governments must manage/plan the economy to ensure growth and prevent depression as in the 1930’s.  In the UK it was agreed that all citizens would be looked after as never before by a new welfare state with more extensive social security, extension of education, building of social housing (council houses rented to workers) and provision of free healthcare.  

Laissez-faire had been left behind!

America’s Role in the Recovery

The USA ended the Second World War even more pre-eminent productively (producing nearly two thirds of the capitalist world’s industrial production) and financially than it had been at the end of the First World War.  The USA had a strong trade surplus, and everyone wanted Dollars, to cover imports of machinery and food from the USA. 

An isolationist USA, like that after the First World War, could have left Europe and Japan to struggle towards recovery.  However with the experience of the 1920’s and 1930’s fresh in American politicians minds, and understanding the need for stable allies against the Soviet Union in the emerging Cold War, the USA took an outward looking approach.  As mentioned below the USA helped European countries (and the UK) to recover through the Marshall Plan, providing Dollar loans and American goods to its allies to aid their recovery, as long as they remained committed to the market system and against the communist system.  As European countries and Japan recovered they were allowed favourable access to the America market and soon were exporting more and more to America.  Strategically the USA needed its competitors to succeed to ensure that a strong and vibrant capitalist block could successfully oppose the Soviet Union.

America led discussions at Bretton Woods in 1944 over how to re-establish the international financial system after the war.  The World Bank and the International Monetary Fund (IMF) were set up.  The World Bank aimed to foster long-term international investment, while the IMF’s task was to maintain exchange rate stability/help countries with balance of payments problems/preserve the stability of the international financial system.  The Dollar was made convertible into gold (restoring a form of the gold standard) and all industrialised countries were encouraged to fix their exchange rates with the Dollar in the Bretton Woods fixed exchange rate system.  During the Golden Age the world currency was the stable and trusted Dollar, with the USA acting as the co-ordinating force of the international economy.  America also spread its influence during the Golden Age through the expansion of its large corporations internationally, particularly in Western Europe.  International trade grew strongly in the Golden Age, with developing countries mainly exporting raw materials, and the developed economies increasing exporting manufactured goods to each other.  

Dealing with the Communist Threat in Western Europe

Contrary to common belief Europe’s capital stock (factories and machines etc) was not devastated in 1945, capital stock levels equalled or exceeded pre-war levels, while manpower levels also matched pre-war levels.  Certain bottlenecks to a restoration of pre-war production levels did exist, in transport (rail), fuel (coal) and food, but by 1947-48 such bottlenecks had been cleared.  The most significant barrier to European recovery was in fact the political situation within European countries themselves.  For strong recovery, driven forward by private investment, business needed to expect that production would be profitable.  Profitable production relied on restoration of businesses’ control of workers, but on the factory floor immediately after the war workers resisted business control.  In Germany workers called for the socialisation of industry, in Italy factory committees ensured workers effectively controlled Italian industry.  

Across Europe the left, particularly the communist party, had grown in popularity as the backbone of the resistance movement against fascism.  At a national level, and on the factory floor, the left threatened to prevent the restoration of business as usual, business feared that a planned socialisation (nationalisation/state control) of industry would replace the market system.

The power of the communist party, and the left in general, at a national and at a factory floor level, was decisively rolled back from 1947 to 1949 by conservative and centralist European politicians.  This was achieved with the strong support of the US, most publicly in the form of the Marshal plan (more privately in the form of direct CIA support for non-communist parties in elections).  European governments applied deflationary policies to control inflation, as unemployment rose firms, with government support, sacked trade union militants.  In both France and Italy the government encouraged the establishment of new non-communist unions for employers to exclusively deal with.  By 1950 employers across Europe were clearly back in control, wage and productivity levels were such as to allow high profit margins, a market based economic recovery was now possible, but would it happen?

The Golden Age

Between 1950 and 1973 Western Europe achieved its highest ever level of long-run growth, total output rose on average by 4.7% a year, while per-capita (person) output rose by 3.9% a year (Maddison, 1995).  Europe grew faster than the US, European real GDP per-capita begin to catch up US real GDP per-capita, see Graph 1. 
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Graph 1 - Real GDP Per-Capita 1950 to 1994.

The boom started slowly in the early 1950’s, and did take off until 1955. Private business investment drove the boom forward.  European countries’ governments encouraged the investment boom, by not only supporting the factory floor control of workers that had delivered high profit margins, but by also publicly committing themselves to setting demand to support full, or at least high, employment.  Government spending rose faster than output growth, supporting demand, but not creating significant budget deficits, as taxation rose in line with spending.  Governments (including the UK and US governments) also closely controlled their banking systems through strict regulation.  Governments kept interest rates low and directed banks to lend to industry in their own country to support their investment (lending to the public, for example to buy houses, was strictly limited/controlled).

High investment generated high productivity growth (helped by possibilities for technological catch up with the USA), ensuring that rising real wages did not bite into high profitability.  For example if in the overall economy over a year productivity improves so each worker produces 5% more output, real wages can rise up to 5% without increasing the per unit wage cost of output.

The UK grew slower but still at a record rate for the UK.  Unions had not been as effectively subdued as they had been in Europe, so resistance to changing work practices and lack of managerial long-term planning combined to ensure a slower pace of investment and productivity growth.

Increasingly as the 1950’s progressed the majority of the politicians and economists in developed countries (mature/rich market economies) began to think that a new consensus as to how to run the economy, had been born, and was here to stay, the neo-classical consensus.  

In the USA this took the form of government aiming for full employment, trying to manage the economy through fiscal policy and expanding welfare provision for the poor.  

In Europe the goal was the same, but as trade unions were more significant/powerful, they were incorporated into the new consensus.1  In return for the government maintaining full (in practice a high level of) employment unions were expected to deliver, through moderate centralised wage bargaining, a profitable environment for business to operate in.   Healthy profitability ensured that business accepted this new managed mixed economy (with a significant state sector) and played their part by investing their high profits to modernise their factories.  Regular pay rises (on the back of high productivity growth) and expanding welfare services were expected to satisfy workers demands, ensuring an end to traditional industrial strife.  If all could be moderate and accept their shares there seemed to be no barrier to a future of permanent high growth and full employment.  We have a new social consensus/partnership/pact between business, workers and government.

Some economists even predicted an end to the economic cycle completely; all accepted the central notion that governments had not only the power, but also the right to manage the economy.     

The state sector not only included public services such as health and education, but whole ‘nationalised’ industries, such as coal, steel, telecommunications, electricity, gas, nuclear power, airlines, railways, banks in many European countries and many other assorted manufacturing firms.  Governments aimed to invest and modernise these key industries to strengthen their economies.  Government planning was considered to be efficient/forward looking rather than a hindrance to business.  

State owned/influenced banks allowed loans to be granted to firms in targeted (by the government) high technology sectors.  In France the government planned the investment priorities of industry throughout the Golden Age (by 1979 French productivity had nearly caught up with the level of productivity in the USA). 

The economic cycle did not end, but it did moderate.  

As boom continued in the early 1960s wage increases began to escalate reducing the share of profits in national income across Europe.  The upward pressure on wages did not come from the moderate centralised trade unions but from workers at the individual factory level.  In response European governments tightened their monetary and fiscal policy (in 1963 in France and Italy and in 1965 in Germany) causing growth to slow and unemployment to rise.  In the downturn firms used the opportunity of a looser labour market to launch an offensive on working practices and plant level bargaining, causing the share of profits in national income to rise.  With the profit share and the profit rate rising again from 1966 European governments reset their monetary and fiscal policy to support a return to boom.  Europe duly returned to boom in the late 1960’s.

The Economics of the Golden Age

We have already explained how governments committed themselves to using fiscal policy (government spending and taxation) and monetary policy (in the form of cheap and often government directed loans to industry) to aim for full employment and to moderate recessions and booms i.e. smooth the economic cycle.  We have also seen how government planning/intervention in business had become the norm.  

Keynes’ economics, or rather the neo-classical consensus, had become the dominant school of thought in the economics profession (Keynes himself died in 1946, missing the long run).  

Keynes analysis of the short run with aggregate demand leading activity, and quantities (total output and employment) adjusting more than prices and wages, was completely accepted.  This short run picture was integrated into a long run with more classical principles, like higher long run savings will increase long run investment, or in the long run the labour demand curve slopes down.  However the slope of the labour demand curve seemed less significant in an age when productivity improvement significantly shifted the labour demand curve up each year.  

The concept of the full-employment budget position was born.  To calculate the actual situation of the government’s budget deficit or surplus it should be compared with the budget balance which would occur, given that level of government spending, if employment was at full employment.  Thus when in recession with a budget deficit already the government should not hesitate to go into further budget deficit to restore full employment if its budget at full employment would be in surplus.  

Economists were listened to and respected by governments and business alike as never before (or after).  Economists’ increasingly complex models of the economy seemed to accurately predict its future behaviour, ‘proving’ their scientific understanding of the economy and the validity of their policy advice.

Phillips, a Keynesian, identified in 1958, through statistical study, a long-run relationship between the average rate of nominal wage inflation and the average rate of unemployment.  Phillips found that in general for the UK lower long-run/average unemployment was associated with higher long-run/average nominal wage inflation, see Figure 1.

Figure 1 - The Original Long-Run Phillips Curve.
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Phillips is not trying to predict a short-run relationship between wages and the level of unemployment (although this is how the Phillips curve would be used latter by monetarists, see next weeks lecture).  Phillips is estimating a curve of alternative long-run equilibrium/average values of unemployment and wage inflation, that the economy could cycle (move from boom to recession) around in the short run.  The Phillips curve can thus be seen as a menu from which governments could choose alternatively (using their monetary and fiscal policy to achieve this) to,

In the short run to cycle around the Phillips curve at a point of higher average inflation (nominal wage growth) and lower average unemployment. 

Or alternatively choose to cycle around the Phillips curve at a point of lower average inflation or deflation (lower growth in, or falling, nominal wages) and higher average unemployment.  

Such analysis, typical of the confident neo-classical consensus, thus presents a choice to governments, with the implication – don’t worry about moderate inflation, we need it to achieve as low as possible average unemployment.

The moderate and slowly moving rates of inflation experienced in the Golden Age were thus seen as preferable to the average deflation of the Great Depression. Governments found that to reduce inflation growth need only be slowed in managed moderate recession. 

So when inflation escalated higher and higher at the end of the 1960’s and during the early 1970’s the neo-classical consensus was presented with a problem outside of its experience/theoretical understanding of the economy, see lecture 18.

The End of the Golden Age
As Europe returned to boom in the late 1960’s the consensus of moderation, which had so far underpinned the Golden Age, began to dramatically fall apart.  Just as in the early 1960’s low unemployment in the late 1960’s led to a wave of factory level strike action.  Trade union leaders continued to advocate moderation, but the grass roots (workers at factory level) were not interested.  

In France in May 1968 a near revolution occurred.  Student protests escalated into an all out general strike and an attempt to set up a new transitional revolutionary government.  The French communist party helped to moderate the situation (proving their essentially moderate and non-revolutionary character), allowing the French government to actually regain control of France!  After the events of May had died down French workers continued to successfully demand strong wage increases. 

In 1969 in both Italy and Germany grass-root led industrial action secured substantial wage increases.  In the UK in the winter of 1969-70 grass-root opposition to the labour governments centrally agreed moderate incomes policy (particularly from public sector workers) led to the breakdown of the incomes policy and an escalation of wages.2 

Rapid wage inflation fed into rapid price inflation, helping to postpone, or at least reduce the impact of higher wage inflation on the profit share of national income and the profit rate. 

European governments responded by tightening monetary and fiscal policy in 1968 and 1969. This tightening was short lived as policy was loosened in the face of political opposition to rising unemployment and a spate of elections, including notably the American Presidential election.  

From 1972 to 1973 Europe and the USA boomed together, causing commodity prices to rapidly rise and wage inflation to escalate provoking a general increase in the level of inflation.  The situation was made more extreme by the first oil price shock (rapid increase in the price of oil) in October 1973.  At a time of growing conflict over the distribution of national income European economies, all oil importers, would have to use more of their national income to import the oil they were dependent on.  The necessary transfer of national income was comparatively small, productivity growth would ensure that the level of national income available for domestic distribution (to share between profit and wages) would again exceed its pre-shock level in a year or two at most.  If moderation could be secured the shock need not set off an intense conflict over the distribution of national income.  Decisively moderation was not on the agenda, inflation spiralled across Europe as business and workers tried to shift the cost of the oil shock onto each other.  

The profit share of national income initially declined, and then the profit rate dramatically fell as output sharply slowed in response to monetary and fiscal policy tightening.  Sharp recession in 1974 and 1975 proved to be again politically unpopular.  For the rest of the decade European politicians vacillated between advocating expansionary or deflationary policies, with or without incomes policies, unprepared to accept too much unemployment or too much inflation.  

In this 1970’s stalemate unemployment gradually increased, inflation remained high, while investment gradually fell back as profitability remained subdued.

America had, like Europe, experienced rising inflation in the early 1970’s as workers struggled for a higher share of national income, emboldened by sustained high employment in the late 1960’s.  Rising American inflation undermined the stability of the Bretton Woods fixed exchange rate mechanism. Significantly the Bretton Woods fixed exchange rate mechanism finally broke down in March 1973 before the October oil shock, again indicating that the Golden Age was not, as is popularly understood, ended by the oil crisis.  

Perhaps?

The decline in the profit rate at the end of the Golden Age may not have been principally the result or workers actions, but simply the result of Golden Age’s high investment.  In the long boom investment was aimed at increasing productivity, with the pace of investment in machinery being faster than the growth in employment.  Following Marx, if workers are the ultimate source of profit, a relative increase in the quantity of raw materials and machines to the number of workers would tend to reduce the rate of profit.  

So why did the boom last so long and end in a prolonged period of inflation?  Marxists suggest government’s artificially kept demand high by going into, for then in peacetime, unprecedented high budget deficits, and allowed the supply of money and inflation to rise to try and hold up the profit rate.  This created a displacement of the tendency/need for ‘real’ crisis/recession in the form of reduced output and prices, to a crisis over the value of money.  Escalating inflation, creating uncertainty in business relations and harming savers, would have to addressed by ‘real’ crisis/recession in the end to both restore the profit rate and re-control inflation/re-establish the stability of the value of money.
Guidance For Tutors/Tutorials – Week 17
How did governments set fiscal and monetary policy to achieve full employment and moderate recessions in the Golden Age?

How and why did the USA act to ensure recovery and then boom in Europe and Japan?

What was the social consensus in Golden Age Europe?

What was the neo-classical consensus?

What policy choice did the ‘original’ Phillips Curve suggest?

How did the Golden Age end?

Lecture 18 

The Triumph of the Free-Market

The Free-Market Approach

Just as the Keynes’ new economic ideas, developed in the Great Depression in the 1930’s, had to wait for the Golden Age to be applied, the new free-market economic order applied from the 1980’s to the present was largely developed in the Golden Age, and had to wait to the inflationary 1970’s to be taken seriously. 

The free-market approach is basically economists and governments going back to the principles of economic liberalism, largely eliminating the ideas/policies of the Keynesian Golden Age.  Note many names have been given to the free-market approach, initially it was termed monetarism, and it has been termed new-classical economics, the Anglo-Saxon model and more recently neo-liberal economics.

Friedman and Phelps laid the foundations for the new consensus in the late 1960's.  Friedman stated the importance of real values over nominal values in the 1960’s, arguing the real condition of the labour market dominated.  We are back in a Walrasian world; there is a unique equilibrium determined by the real condition of the labour market, a natural rate of unemployment.  

Monetarists believed that inflation is purely a monetary phenomenon; with inflation simply equally the rate of growth of the money supply, at least in the long run.  

If the growth rate of the money supply were to be reduced inflation would soon fall.  If workers were to interrupt the process by failing to moderate their wages (adjust wage increases down in line with lower growth of the money supply) unemployment through short-run recession would be required to adjust inflation downwards.  

The level of unemployment would be unaffected in the long run by the switch to lower long-run inflation, as monetarists believed unemployment to be determined in the long run by ‘real’ forces in the labour market independent of the monetary economy (the level of inflation) and short-run fluctuations in aggregate demand.  

Friedman and Phelps’ notion of the natural rate of unemployment is based on the notion that you can’t fool most of the people most of the time!  

In Figure 1 we start at A with actual unemployment equal to Un, the natural rate of unemployment, defined as the rate of unemployment necessary to keep inflation constant.  Let the government expand demand moving us to B on ‘short-run’ Phillips curve PC1, inflation rises.  Workers account for this rise in inflation in their wage demands for the next period shifting the ‘short-run’ Phillips curve to PC2.  The economy moves to point C on PC2 as the government continues to try to expand the economy.  Both inflation and unemployment rise, which is called stagflation.  

Attempting to reduce unemployment below its natural rate is causing spiralling inflation, the only solution being the government allowing unemployment to drop back to its natural rate, with inflation significantly higher, but stable at point D.  

Figure 1 – Friedman and Phelps’ Phillips Curve.
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Politicians by their attempts to manage the economy could cause the economy to cycle at higher or lower average inflation, but demand management can not effect the natural rate, see Figure 2. 

Figure 2 – Short-Run Cycles.

Figure 3 – Reducing Inflation.
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To move from the high inflation cycle of the 1970’s to a low inflation cycle the money supply must be restricted, increasing interest rates, and creating recession/unemployment above its natural rate, until inflation had fallen to a sufficiently low level, see Figure 3.  

As expectations of inflation are crucial monetarists maintained that the more determined and public the government was about reducing inflation, the faster workers would moderate their wages/allow inflation to drop, reducing the extent and length of the necessary recession to reduce inflation. The ‘credibility’ of government policy thus became a crucial issue, providing the justification for moves to Central Bank independence and built in commitment to price stability (in practice between 1%-2% inflation). 

Friedman and Phelps view of the natural rate of unemployment has now gained general acceptance (significantly when monetarist economic policy was applied in the USA and UK in the late 1970’s and early 1980’s only a minority of economists accepted this view). 

The natural rate hypothesis rules out the effectiveness of Keynesian demand management.  Governments can only create short-run booms at the cost of spiralling inflation.  Conversely recessions, unemployment below the natural rate, would also be short-lived, with inflation falling before stabilising at a lower constant rate once unemployment falls back to its natural rate.  

Free-market economists debate the nature of the market imperfections/supply-side problems, which determine the natural rate but not the concept of the natural rate of unemployment itself.  

Their message is clear; governments can not permanently reduce unemployment through keeping aggregate demand high. To reduce the natural rate/long-run unemployment something real must change in the labour market/on the supply side (see lecture 21).  

In general the free-market approach believes that the market is more efficient than government, which is only liable to disrupt/distort the market (laissez-faire come back).  

If unemployment is high trade unions must be responsible for demanding too high real wages.  

Income inequalities are seen to reflect and encourage entrepreneurial activity and career self-development.  High tax rates (particularly progressively high tax rates for high earners) are seen to discourage work and wealth creation.  

The government should seek to limit the size of the state (the proportion of total spending and tax in total output) to encourage private business activity.  High government borrowing is seen to push up interest rates, crowding out private business activity.  

Nationalised industries are seen as inefficient, so must be privatised, as only private business knows best how to run an efficient business.  

Free trade/globalisation on free-market terms will maximise world growth.  

Finally the free-market approach believes that as much freedom as possible should be given to the financial sector, with complete freedom of movement of money internationally (see Lectures 23).

The Triumph of the Free-Market Approach

In August 1979 President Carter appointed Paul Volcker as the new Chairman of the Federal Reserve (the American Central Bank).  Mr Volcker decisively reset US monetary policy to prioritise the fight against inflation.  By the new monetarist approach the Federal Reserve targeted a low growth rate of the money supply to control inflation.  If the money supply grew too strongly the Federal Reserve would simply increase interest rates until the growth rate of the money supply was again within target; no matter if sharply increased interest rates provoked deep recession.1
The turn to free-market approach in the USA was cemented by the election of the Republican President Ronald Reagan in 1980.  In the UK in 1979 the electorate (or more precisely approximately 40% of them), disquieted by high inflation, chose Margaret Thatcher’s free-market ideology based conservative alternative. Mrs Thatcher rigorously applied the monetarist approach in the UK.  Across Europe electorates’ switched to the right and supporting free-market anti-inflationary policies.  The new free-market policy agenda ensured that a sharp recession resulted in the early 1980’s across Europe and in the USA, European unemployment rose from 5.3% in 1979 to 8.7% by 1982.  By 1986 the great 1970’s European wage push had been finally tamed, European inflation was down to a controlled 3% at a cost of 10% unemployment.

Table 1 – Profitability.

	
	EU 15
	Germany
	France
	The UK
	Italy

	1961-73
	100
	100
	100
	100
	100

	1974-85
	73.3
	73.7
	74.8
	78.2
	60.8

	1986-90
	90.9
	81.1
	95.8
	96.5
	89.5

	1991-95
	97.4
	86.9
	102.2
	107.9
	100.2

	1996-00
	115.2
	96.1
	113.1
	136.8
	132.6


Table 1 shows how mass unemployment subdued workers demands, allowing profitability to recover (European Economy No. 71). Note average profitability for each country between 1961-73 is set at 100 as a base from which to judge subsequent events, this does not mean that all countries shared the same average profitability from 1961-73.

Is the Keynesian/Market-Interventionist Approach now Dead?

Although most economists have become supporters of the free-market approach, political parties, in opposition and government, in different countries, to different extents at different times, still call for and implement elements of Golden Age policies.   

It is not straightforward to name this approach.  

Initially in the US and the UK right of centre political parties adopted the free-market approach, while left of centre political parties held to the Keynesian approach of the Golden Age.  However both the Democrat party in the US and New Labour in the UK have become strong supporters of the free-market approach.  Ironically it is the Republican President Bush and the American Central Bank, which, in reaction to the credit crunch in 2007/08  prioritised maintaining growth over fighting inflation (thus taking a very traditional Keynesian approach), see lecture 20.  In Europe many countries follow a European Social Model.  In Sweden the Social Democrat party has continued to rigorously apply Golden Age style polices, while in contrast the German Social Democrat party is helping reform the economy in a more free-market direction.  President Sarkozy of France, although a right of centre politician, seems to support more Golden Age type policies than any other leader in Europe!

We must thus avoid a political name for this, non-free market, approach. Let us call it the market-interventionist approach. So by a market-interventionist approach what went wrong at the end of the Golden Age?  

The market-interventionist approach accepts that unions became too militant, and this aided by the oil price shock largely broke the social consensus necessary for successful market-interventionist policy.  In this approaches opinion some governments incorrectly decided to turn to the confrontational free-market approach, while market-interventionist governments, such as in Sweden, maintained/re-established a high level of social consensus, and suffered less recession in the 1980’s and subsequently grew faster than most free-market countries.

Let us spell out the elements of Golden Age policies we can now term market-interventionist.

The market-interventionist approach accepts the social consensus of the Golden Age.  Business is still seen as the heart of the system but the government is perceived to have a central role in co-ordinating the economy to deliver social welfare for all (to enhance the stability of that society).  

Progressive taxation is encouraged to facilitate distribution of income from rich to poor (without, according to the market-interventionist approach, discouraging entrepreneurial activity or work effort).  

The government believes it has a role to bring together business and trade unions to collectively decide wages and working conditions.  Co-operation rather than conflict is best thought to deliver appropriate wage levels and high average levels of employment. 

Nationalisation is seen as an important tool to revitalise declining industries or bring co-ordination to strategically important industries (such as railways for example).  

Protectionism, through quotas/taxes/specific restrictions, may be used to protect home industries from competition from imports.  Given the free-market approach is in favour of free-movement of labour we can interpret restrictions on labour mobility as ‘non-free-market’.

High government spending and tax is encouraged to build up the physical and social infrastructure of the country, e.g. high expenditure on education is seen to enhance the productive capacity of the workforce.  The government is thus seen as a crucial facilitator of growth in the private sector.  

Temporary high government borrowing, in-order to facilitate fiscal expansion led recovery from recession, is not seen to increase interest rates, but is seen to help business through increasing demand for their products.  

The government is committed to maintaining as high as possible aggregate demand, in-order to keep average unemployment as low as possible.  Inflationary spirals must still be prevented by wage restraint but through business and trade union co-operation, rather than sharp recession.  

This does not imply that market-interventionist governments could infinitely expand the economy, recession/slow downs would still be required to keep inflation under control, but not such tight control as advocated by the free-market approach.  In the spirit of the original Phillips curve the market-interventionist approach is likely to tolerate higher average inflation over the economic cycle than the free-market approach prefers, in the hope of achieving lower average unemployment over the economic cycle.

Finally a government may only adopt a few market-interventionist policies and be largely free-market, or it may be largely market-interventionist. 

The Economy from 1979 to 2004

Graphs 1-5 show inflation, unemployment and growth (real GDP change) for the USA, UK, France, Germany and Japan from 1979 to 2004.  All five countries experienced recession in the early 1980’s, recovering/booming in the mid/late 1980’s.  Recession returns in the early 1990’s, to be followed by recovery for the rest of the 1990’s (but only weak recovery in France and Germany, with Japan failing to recover until 2003).  The economies again fall into recession in the early 00’s, with the USA leading recovery from 2002.

Graph 1 – USA – % Change Real GDP, Unemployment % and Inflation %.
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Graph 2 – UK – % Change Real GDP, Unemployment % and Inflation %.

Since the turn to the free-market approach in 1979 inflation has eventually dropped to a very low level in all five countries (in fact to deflation in Japan).  After a prolonged period of very high unemployment in the 1980’s average unemployment dropped to around 5% in the USA and UK by 2004.  In contrast in Germany and France unemployment has remained at a significantly higher level (and is growing in Japan).  

Average annual growth in the USA in the 1990’s stood at a healthy rate of approximately 3% (but below its level in the Golden Age), while growth in the UK has averaged around 2.5% from 1981-00, higher than in the 1970’s but lower than during the Golden Age.

Graph 3 – Germany – % Change Real GDP, Unemployment and Inflation %.
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Graph 4 – France – % Change Real GDP, Unemployment % and Inflation %.
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Average growth in France and Germany appears to be following a continual downward trend.  In Europe advocates of the free-market approach blame old-fashioned market-interventionist ways in these countries for this comparatively poor performance.  In contrast followers of the market-interventionist approach believe growth would rise if the free-market direction of EU policies, such as the Euro, were reversed. 

The persistent Japanese depression since the early 1990’s is thought to result from the Japanese government and Central Bank being reluctant to let large financial institutions go bankrupt (in a managed way).  In the late 1980’s Japanese land and share prices shot up in speculative frenzy.  The collapse of these prices in the early 1990’s left banks and speculators with considerable unrecoverable/unpayable loans.  Burdened with bad debts low industrial and consumer confidence has ensured attempted fiscal expansions failed to return Japan to sustained growth until 2003.
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Graph 5 – Japan – % Change Real GDP, Unemployment % and Inflation %.
Increasing Abstract Economics.

Economics has become very concerned with expectations and how perfect is the information about the economy agents’ (firms, government and workers) base their behaviour on.  Conventionally agents are assumed to have rational expectations i.e. know how the economy works and will adjust to any government interference to preserve the economies natural equilibrium (based on agents maximising behaviour).

Such very complex mathematical models introduce various information problems or supply side rigidities to explain why unemployment persists or why the economy cycles.  Prescott won the Noble prize for economics for suggesting that the economy cycled because it was hit by random shocks (real business cycle theory).  

In the late 1970’s Lucas presented his ‘Lucas critique’; ration agents would not respond to information today as they did yesterday, expectations change with experience.  The apparent stability of agents behaviour in the Golden Age encouraged economists to build complex predictive models of the economy, assuming constant behaviour, but if expectations/behaviour could shift such models would become redundant.  

Although the reliability of economists’ predictions are now more questionable, economists have been, particularly since the end of the cold war, increasingly employed to justify the application of free-market based policies internationally i.e. to justify free-market based globalisation.

Economists now also explore game theory (Nash even had a film made about him, a beautiful mind), to see how agents may react to each others behaviour, and look to more input from physiology and biology to explain agents behaviour.  

Strikingly the economics profession is splitting between those who agree with the main assumptions of the free-market approach and those who believe in a variety of alternative theories (they go to different conferences and publish in different journals i.e. don’t engage with each others ideas).  

The free-market approach dominates as it is funded far more generously than other schools of economic thought by governments themselves committed to the free-market approach.  

As we have seen from the experience of the C20th events, causing changes to political attitudes, are likely to determine the future direction of economic thought in the C21st.

And of course the current recession is going to have a big influence on economics, like past economic problems in the 1930’s and 1970’s, which leads us to lecture 20.
Guidance For Tutors/Tutorials – Week 18
What is the natural rate of unemployment?

How did monetarists believe inflation should be reduced?

What is the free-market approach?

How does the market-interventionist approach differ from the free-market approach?

How did the major economies perform from 1979 to 2004?

What is the ‘Lucas critique’?

Lecture 20

Our Current Recession
At the time of writing these notes (June 2009) it is still unclear how large the world recession we are currently in will be.  The financial system seems to be more stable but output continues to fall and unemployment continues to rise across the world.  Hopefully by the time you read these notes the peak of the recession will be behind us, with a recovery beginning to occur.  But this is a hope, no one really knows.  Likewise no one really predicted that this recession would occur in the way it has and would be as serious as it has been.  Rather the predominantly free-market economics profession has been telling us for 30 years how efficient the now free-market globalised economy and financial system is, predicting economic success for all countries that follow a free-market approach.  As such the pre-dominantly free-market economics profession has failed as seriously as its ancestor Economic Liberalism failed in the 1930’s.  Governments have quickly turned to Keynesian economics (as we term it in lecture 18 a market-interventionist approach) to combat the recession.  So the future direction of the economics profession is as unclear today as the future direction of the world economy.

Restoring An International Financial System

In the Golden Age countries closely controlled/directed/regulated their national financial systems, which were kept national (forced to mainly concentrate on operating in the country they were based in) through exchange controls being applied by governments across the world.  Exchange controls limited the movement of money internationally.  Such tight control was introduced in response to the failure of the international financial system in the 1930’s; it precisely aimed to make another Great Depression impossible.  

We have just explained in lecture 18 how the UK and the US turned to the free-market approach in the late 1970’s.  By the free-market approach the market knows best/is most efficient if it is left alone by government, and this equally applies to the financial sector as much as any other sector of the economy.  So the US removed exchange controls in 1974 and the UK removing exchange controls in 1979.  The financial systems in the US and UK were deregulated and encouraged to expand internationally.  Mrs Thatcher the UK Prime Minister wanted the City of London (the UK financial system) to return to being a major international financial centre.

In 1986 the City of London was reformed/deregulated in a process called the Big Bang.  Previously each element of the system, retail banking (loaning money to small firms and individuals), investment banking (organising large firms finances i.e. their bond issues, share issues and attempts to merge/take-over other firms), insurance and foreign exchange dealing, had all to be conducted by specialists.  Insurance companies could only sell insurance, in the stock market jobbers could only buy shares while brokers could only sell shares.  Big Bang suddenly allowed any financial institution to sell or buy any financial product it wanted. Furthermore regulation over how financial products should be sold/conducted was freed up, with in particular mandatory reserves of capital (to cover any potential losses) being weakened or removed entirely.  The name of the game was leverage i.e. operating with as little cash/reserves as possible, for a bank this meant having far less capital/reserves for the volume of loans they lent.

The free-market hope was that greater competition would lead to greater innovation and efficiency.

In the US and UK lending for house purchases started to rapidly increase; encouraged further in the UK by council house residents being given the right to buy their homes on very favourable terms. In both the US and the UK demand was bolstered by the financial sector’s increased willingness to lend to the public in general and the public’s desire to take on increased levels of personal debt.  Strongly rising house prices encouraged people to increase their consumption by re-mortgaging (increasing the mortgage on) their houses.  The City of London grew and grew as a now outward looking world financial centre.

Early Signs of Trouble

Governments increased interest rates across the world at the end of the 1980’s/start of the 1990’s to reduce inflation.  House prices fell in the UK and the US causing many homeowners to fall into negative equity (have mortgages greater than the price of their house) and loose their houses.  The Savings and Loans corporation in the US had to be bailed out by the US government.  But when the recession ended and interest rates fell the housing market returned to strong recover; house prices and mortgages escalated again.

Free movement of money internationally caused a number of financial crises around the world.  For example in South East Asia in 1997-8 western banks decided to rapidly withdraw their money/investments from these countries, causing the whole region to fall into slump (and knocking on to other ‘emerging’ markets such as Russia, Eastern Europe and South America).  But the trouble was far away and the western financial system soon returned to lending to emerging markets.

In the 1990’s a single derivative trader made such large losses that he bankrupted the bank he worked for (Barings, a very old and respected UK bank; in fact the bank the Queen banked with).  But this seemed an isolated incident and outside the financial sector no one really knew what a derivative was anyway, such had been the pace of innovation in the now freed-up international financial system.

The Credit Crunch

In response to historically low US interest rates (set low by the US Central Bank the Federal Reserve) from the early 00’s US banks/financial institutions started to lend mortgages to low paid American’s who had little chance of being able to pay them back.  The borrowers were termed sub-prime (more risky to lend to than higher income prime borrowers), the market for these loans being called the sub-prime market.  

US banks sold these loans (mixing them with other loans and terming them collateralised debt obligations CDO) to other banks. This is an example of securitisation.  Instead of limiting lending to the deposits it holds a bank when it makes a loan turns it into a security (like a bond, promising to pay interest to its holder) and sells it to raise money to make more loans. 

As always with speculation/financial sector over-confidence, all appeared fine to start with, banks/financial institutions were eager to buy CDO’s.  Then, in response to the US Central Bank (the Federal Reserve) increasing interest rates from their previously historically low levels, in 2007 more and more low income US households started to default on their mortgages.  As the CDOs included these loans, when these loans became bad-loans the CDOs became worth less than what the banks that had bought them had paid for them.  They became ‘toxic’; their future value becoming uncertain, making such assets impossible to sell at anything but a very low price.  CDO losses, like any loss, should be deducted from banks total assets (written-down).  

CDO losses were large enough to cause a number of banks to actually make an overall loss (the CDO loss being greater than profits from all the bank’s other activities).  Such losses caused the Northern Rock building society to go bankrupt and be taken over by the UK government, while major financial institutions in the US, like Bear Stearns likewise began to struggle.

Uncertainty as to which banks held bad-loans or not caused banks to think twice about lending to each other.  Consequently inter (between) bank lending fell and banks increased the interest rate they charged each other (this being in the UK the London inter-bank lending rate, LIBOR).  Banks started to try to reduce their bad debts and to pass the increased cost of their own borrowing on to their customers (people and firms) by increasing the interest rates they lent to their customers at.  However up to September 2008 the credit crunch seemed to be purely a problem for/in the financial system.  Interest rates for the public and firms did rise, but not dramatically, and credit was still available.  

Rising inflation made a slowdown seem appropriate for the economy anyway; what differences did it make that the banks were pushing up interest rates themselves rather than Central Bank’s increasing their base interest rates and banks following this?  Remember the base interest rate is the rate Central Banks lend to the financial system at.

Panic

In September 2008 the credit crunch spiralled into a full-scale international financial crisis.  Banks’ share prices tumbled, and more and more banks seemed to be on the verge of collapse.  In the US the largest insurance company in the world, AIG had to be rescued/given taxpayers’ money.  The US investment bank Lehman Brothers was not rescued by the US government and fell into bankruptcy, sending shock waves throughout the international financial system.

Banks stopped lending to each other, being afraid of not being repaid if the bank they lent to failed.  Banks now rigorously sought to reduce their lending to the public and particularly business, calling in more loans in a scramble for cash reserves (to improve their balance sheets/cover any loss/obligations to pay other banks money at short notice).  By banks we mean a range of financial institutions, including Hedge Funds (private unregulated financial investment ‘clubs’).  As investors withdrew their money from Hedge Funds these funds (and many other investors investing with other people’s money) were forced to sell shares and other financial assets driving these markets down.

The sudden withdrawal of credit to industry, and the suddenly very poor economic situation, caused industry to stop investing and to scale back their production plans (and of course led to the bankruptcy of many firms).  As Keynes explained, in the context of the Great Depression, a sudden fall in investment will immediately drag the economy into recession.  So the financial crisis fed through to the real economy.  Output across the world fell sharply in the second half of 2008 and continued to fall (is still falling at the time of writing this in June 2009).

Before we move on to how governments have responded to the crisis let us consider derivatives in more detail.  Derivatives are essentially bets/positions on the value of shares, bonds, currencies, interest rates, in fact anything you want to bet on!  They are unregulated and secret, no one knows which financial institutions have bets with other financial institutions.  Furthermore to make a £20 bet you only have to place £1 up front (have a cash reserve of £1).  So if your bet goes wrong you have to pay the person you bet with (the derivative counter-party) much more than you put aside/up front in cash.  Hence the scramble for cash by financial institutions in general to cover any bets they have got wrong/obligations to pay your derivative counter-party.

One type of derivative essentially bets on if a company goes bankrupt or not and is called a Credit Default Swap (CDS).  Large companies issue their own bonds, and if the company goes bankrupt only a small amount of a bonds total value may be paid to the bondholder when the company is wound-up by its bankruptcy administrators, for example only 5p in the £.  A CDS insures company bonds against such default.  The seller of the CDS, a financial institution, sells the bondholders (of mainly financial institutions) insurance against any loss if the bonds go into default through bankruptcy, in our example it would pay the bondholder the other 95p in the £.  Furthermore CDS can be sold to people (investors/financial institutions) who don’t even hold any bonds, but just want to bet on them as if they did own them!  

When Lehman Brothers went into bankruptcy many of its bondholders were insured through CDSs issued by AIG, creating an enormous loss for AIG (the world’s biggest insurance company).  The failure of a large financial institution may thus trigger the failure of others because they have sold CDSs on that financial institution’s bonds, which they could not possibly afford to honour, pushing them into bankruptcy too (thus triggering the CDSs on their bonds, passing the problem to whoever insures those CDSs, and so it goes on).  This may explain why governments in the west are so keen to keep their banks from going bankrupt (and then restructuring them in public ownership); because it would create a contagion of bank and other financial institutions failures throughout the financial system that might bust the whole system.  If you are beginning to think this is all very irresponsible, even criminal, you are not alone.

The Keynesian/Market-Interventionist Reaction

Despite their previous commitment to free-market economic polices western governments immediately adopted very Keynesian/market-interventionist policies to counter the crisis.

Firstly let us consider the extremely market-interventionist actions that governments have taken to support the financial system.  In the US and the UK –

The Federal Reserve and the Bank of England are providing liquidity to US based banks and UK based banks respectively.  This means the Central Bank swaps money for banks’ solid assets such as government bonds; this is lending supported by solid collateral.

The US Federal government and the UK government are also providing money to the banking system unsupported by banks providing solid collateral in return, thus ‘bailing out’ the banking system.  In the US the government through the Federal Reserve has tried to give banks money in return for their untradable ‘toxic’ CDOs. In the UK the government has insured the major banks toxic assets (if these assets price fall below a certain level the UK government will pay this difference to the banks).  In the US and the UK the government is injected capital/money into troubled financial institutions by buying shares in those institutions and thus partially nationalising them (Banks and building societies in the UK and US and also AIG in the US).  These actions may lose money so only the government is allowed to sanction it, not the Central Bank.  This is because it is only the government that has the power to tax and to borrow by issuing government bonds to cover any loss that might be incurred (with its ability to tax in the future allowing it to borrow now).

In addition to these specific steps to help the banks stay solvent and avoid bankruptcy, the UK and US governments desperately want the banks to keep lending to the public and industry, and at lower interest rates than before the crisis, not at higher rates.  Indeed those who have criticised the massive programme of support to the banks have pointed to the very fact that through the Autumn of 2008 and the first half of 2009 (the time of writing these notes) banks have been propped but it is not clear that they have either increased their lending or reduced the interest rates they lend at.  Such critics argue that insolvent banks should simply be a allowed to go bankrupt (wiping out their shareholders and bondholders) and then be restructured by the government, even if the government ends up being the majority of the financial system itself. The government would then have the control to decisively ensure that increased lending at lower interest rates occurred (expansionary monetary policy) to fight the recession, limiting the decline in output and returning the economy to recovery sooner.

So all these actions may still be insufficient with plan B being complete nationalisation of the banking system.  Again the government is the only institution with the power to take such action.  The UK and US governments have the national economic sovereignty to decide to take such action, with in each country the government and the Central Bank having a long tradition of working together.  The UK’s financial system has been saved from collapse by the government and the Bank of England every time financial crisis has threatened its collapse, going back to before the industrial revolution.

Let us now consider the actions governments have taken to support the economy in general i.e. to fight the drop in output and return to recovery as soon as possible (which is an extremely Keynesian objective).

To try to expand monetary policy the Bank of England and the Federal Reserve cut their base interest rates to around 0.5% in the Autumn of 2008.  But, as the banks want higher profit margins to improve their solvency, many borrowers were not charged lower (or much lower) interest rates (with risky borrowers facing higher interest rates) with banks keen to reduce their lending, not increase it.

This has prompted the Federal Reserve and the Bank of England to some extent to try to lend to business directly by purchasing corporate bonds (issued by large firms), while the US and UK governments are insuring lending to small business (providing loan guarantee schemes).  Again these actions may lose money so only the government is allowed to sanction them, not the Central Bank.

As a final/desperate measure the Federal Reserve and the Bank of England are engaging in quantitative easing to give the banks even more cash/money in the hope it will cause them to increase their lending.  Normally if the Central Bank provides money to a bank the government through taxation or issuing government bonds must have first raised it.  Quantitative easing is the Central Bank simply creating this money from nowhere and using it to buy assets such as government or corporate bonds from banks, thus giving the banks money to lend.  

In addition to providing money to the banking system such newly created money could be directly used to fund government expenditure reducing the governments need to borrow by issuing new government bonds.  It could also be used to buy new government bonds alleviating the possible problem of the government not finding enough investors willing to buy their government bonds.  As of June 2008 these measures have not been adopted, time will tell if they will be tried.  Such creation of money has to be sanctioned by the government, and represents a radical step into the unknown.

Turning to fiscal policy, the traditional Keynesian response to a recession is to increase government spending and reduce taxation (expansionary fiscal policy) to help fight the recession and hopefully quickly return the economy to expansion.  Governments across the world have tried to expand fiscal policy, with arguments over the extent of the expansion being raised at the G20 meeting in April 2009 with the US asking for more expansion in Europe.  Such arguments are to some extent misleading, Germany may appear to be expanding fiscal policy less, but the high level of social security paid in Germany will mean as unemployment rises it may have a larger budget deficit than the US.

There have been tax cuts in the US and UK, and an increase in spending in all countries that can afford it, and specific industries, notably the car industry in Europe, have been given subsidies.

Here we reach our second major problem (the first being the banks) what do we mean by saying whether the government can afford it? 

Rolling-Over The National Debt

Governments have to issue government bonds to not only finance their current budget deficits but to cover the entire national debt (all the country’s past budget deficits added together minus any budget surpluses).  Government bonds are for different periods from three months to ten years.  At any time some of the bonds covering the national debt will mature and require repayment, with the government issuing new government bonds in their place, thus rolling them over.  Before the crisis developed countries had national debts of between 40% and 100% of their GDP i.e. have to roll-over a lot of government bonds this year even if they had a balanced budget or surplus for this year.  Instead they are substantially increasing their budget deficits significantly increasing the total number of government bonds they need to issue.  It is only possible to do this, to apply expansionary fiscal policy, as long as enough investors in the financial system actually want to buy all these government bonds.

If the financial system is reluctant to buy a country’s government bonds it will need to be persuaded to buy them by the government offering a higher interest rate on their bonds, as has been the case for Southern European countries.  If the financial system has serious doubts about a country’s government’s ability to pay out on its bonds when they reach maturity its credit rating will be reduced.  The government will not be able to sell enough government bonds to rollover its national debt and will face bankruptcy.  At this point the International Monetary Fund (IMF) may or may not lend the country the money it needs to avoid bankruptcy i.e. to rollover its national debt.  Some countries, like the Ukraine, have gone bankrupt with the IMF refusing to help.  Other countries, like Hungary, have been helped/lent money by the IMF so they can avoid bankruptcy, but in return the IMF has insisted that Hungary increases tax and reduces government spending to reduce their budget deficit.  Applying such deflationary fiscal policy has/will make the recession in Hungary much worse (is the opposite to the Keynesian policy of expansionary fiscal policy to fight the recession).

So if a country can not rollover its government bonds and thus its national debt it is in serious trouble.  Close to home Ireland faces this problem and has cut its government spending and increased taxation dramatically, so is consequently experiencing a very serve recession compared to the UK.

In the UK the government has kept the interest rate low on its government bonds by the Bank of England buying UK government bonds through its quantitative easing policy.  Consequently with a strong demand for UK government bonds, despite their increased supply as the government issues more bonds to borrow more, the price of UK government bonds has remained high so the interest rate on them has been kept low.  Remember the bond has a face/maturity value of say £100, if they are sold by the government or traded second hand in the bond market for £90 that is a 10% interest rate, if they are sold/traded at £98 that is a 2% interest rate. 

The danger of this policy is that the financial system may regard it as ‘irresponsible behaviour’ and decide to move out of the £, causing its exchange rate to dramatically fall.  If such a scenario occurred the government would be forced to increase interest rates and reduce the budget deficit to defend the £/bring investors back.  However such contractionary monetary and fiscal policy would increase the recession in the UK, ending the start of any potential recovery.

So far the UK has avoided this.  The £ did fall in the Autumn of 2008 as the poor state of UK banks became clear, but, despite quantitative easing occurring, it has stayed stable in 2009 (at least up to June).  So the drop in the £, by approximately 20% against the Euro, does not represent a collapse and is likely, by improving UK competitiveness, to help recovery by boosting exports.  

The political debate in the UK has turned to how after the recession the government will attempt to reduce the national debt (which by 2010 could have nearly doubled from its 2007 level to around 80% of GDP).  To achieve this, a long period of budget surpluses is necessary, potentially slowing the UK’s recovery/growth rate for years.  UK citizens will have to pay more tax and/or receive fewer public services than they could have if this crisis had not occurred.

To avoid this legacy of debt why does the government not simply ask the Bank of England to tear up the UK government bonds it holds/owns as a result of its quantitative easing programme?  It already in June 2009 holds £150 billion worth of UK government bonds, and further quantitative easing could increase this further, so tearing the bonds up might wipe out between 20% and 40% of the national debt (taking it back closer to its pre-crisis level.

The problem with this policy is the fear than it might be inflationary, or more precisely the fear that the financial system would regard it to be inflationary and create an immediate exchange rate crisis by selling the £ (before we really found out if it was inflationary or not).  Remember monetarist/free-market economists think that inflation depends on the money supply.  So in crisis it might be OK to increase the money supply by quantitative easing.  But when the recovery starts the Bank of England should return (sell back) the government bonds it holds to the financial system to take back in the money it has created by quantitative easing to prevent a larger money supply causing inflation.

But the idea of such a link between money supply and inflation is just an idea, a free-market economic idea that is not supported by many non-free-market economists.  But economic ideas true or not can have powerful influence.  Free-market economists both in universities, governments and the financial system got us into this mess by justifying financial sector deregulation and a return to an innovative international financial system preaching that free international financial markets were more efficient than those closely controlled by governments, as in the Golden Age.  

In general if the financial system takes a free-market view in the coming years it will be very difficult for governments to continue to apply Keynesian policies. The financial system could block Keynesian policies by creating a financial crisis for a government by refusing to buy the government’s bonds or selling that country’s currency creating an exchange rate crisis.  

So our future depends on the whims/opinions of the very financial system that got us into this mess.  Of course, particularly if all the leading countries agreed such action, governments through strict regulation and the re-introduction of exchange controls could tame/limit the power of the financial system (just as they did in the Golden Age in response to the Great Depression).

To conclude we are in a mess and only time will tell how big a mess and how economics will react to this.  Will Keynesian ideas decisively defeat free-market ideas, or will free-market ideas soon come back to dominate economics?

Guidance For Tutors/Tutorials – Week 20
Why did governments deregulate their financial systems?

What where the early signs of trouble?

Why did CDOs create the credit crunch?

What is a derivative?

How does a CDS work, and why might they explain why western banks are so keen to prevent major financial institutions from going bankrupt?

How did the panic in the financial sector knock on to the rest of the economy to cause the sharp recession we are in?

How have governments tried to rescue the financial system?

How have governments tried to help the economy in general?

What is quantitative easing and is it a good idea?

What do we mean by rolling over the national debt?

How do countries go bankrupt and what does the IMF do, if it chooses to, to save them from bankruptcy?

What should the UK do about its increased national debt when the recession is over?

How do you think that the crisis is likely to change economic ideas?

Dr Nick Potts

Nick.Potts@Solent.ac.uk

June 2009
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1 In Japan the connection between government, banking/finance and industry was particularly close.  The government set the sectors to target for growth, the tightly influenced banking system provided the finance for those sectors to expand, while large firms preferred to co-operate with each other than compete.  Cross-share holdings between the largest banks and firms tied the whole economy into a small circle of influence/control, both backed and directed by the government.


2 An incomes policy sets a limit to wage increases.  Governments have used both voluntary and compulsory (by law) incomes policies.  Voluntary incomes policies are negotiated centrally between governments, firms and unions, they rely on all accepting the centrally negotiated agreement.  Compulsory incomes policies legally oblige workers and firms to accept the government’s maximum limit on wage increases.  Governments have on occasion combined compulsory incomes policies with price controls, thus aiming to control both sides of the inflation process.


1 In practice monetary targeting proved unreliable.  Changes to the banking system made it very hard to interpret money supply figures, causing the Federal Reserve to drop its monetary targeting approach to interest rate determination in 1983 (the UK similarly introduced monetary targeting only to abandon it within a few years as a unreliable guide to interest rate policy).  To maintain a free-market policy direction countries switched to targeting low inflation/price stability (often through commitment to a fixed exchange rate with a country with low inflation) as the basis to their interest rate policy.





1
59

[image: image10.wmf]4

8

12

16

20

24

Thousands

 Real GDP per capita - Geary-Khamis Dollars

1950

1955

1960

1965

1970

1975

1980

1985

1990

UK

US

France

Germany

_1307273542.doc


[image: image1.wmf]4


8


12


16


20


24


Thousands


 Real GDP per capita - Geary-Khamis Dollars


1950


1955


1960


1965


1970


1975


1980


1985


1990


UK


US


France


Germany




_1053945367




